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PART -1
GENERAL KNOWLEDGE AND APTITUDE TEST

India’s first Defence Satellite launched on August 2013 is ....

2013 esitipé’® groBdio BRPACDD SHEd GIIRTO errsees
(1) G.SAT-6

(2) GSAT-3

@) G.SAT-7

(4) GSAT-5

Indian Standard Time is in advance of the Greenwich Mean Time exactly

(2) Five hours

(3) Three and half hours

(4) Five and haif hours

PGB (SrHredl oo (RS TeNTNe Sol) 5200858, BRI v
(1) D& Hoewew

(2) =& Nowen

(8) BorEsHG Hoews

205N Hoeed

The ‘Kaziranga National Park’ is located at .....
(1) Jabalpur

(2) Jorhat

(3) Rajkot

(4) Nainital

sdtom Wisd P, 35,6 HHO.

4 P
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NCTE is concerned with ....

(1) Cultural and Technical Education.
(2) Compulsory Education.

(3) Technical Education.

(4) Teacher Education.

2R.2.83.3. B2 BowodoIda.
(1) Do) BBk FcdDY Jisg
(2) Ges A5

Identify the correct statement -
(1) The teacher has to involve the students in his teaching.

(2) The teacher has to insist students to eat Mid-day meals only in the school.
(3) The teacher should give importance to gifted children.
(4) The teacher should avoid students who are not sincere.

ROGID TN oG

GPEREINED DeTtzone B S96° Rrdresss Saird.
(2)  Sogrgimy §iamed) Dovdizes BiEone Sdeoes EMGRAIED 2.OE SaD.
(B) POFFBBITY IO SRty BB FTD.
(4)  Qduis B ordrons GPGRO0ES HOTIATD.

CBSE stands for ....

(1) Co-operative Bureau of Scientific Education.
(2) Cellular Branch of Scientific Entrepreneur.
(3) Central Board of Secondary Education.

(4) Cultural Board of School Education.

EEARS O

(1) Fgoh g st

(2) ?‘éﬁﬁ& ¥evro JG@J@JE&J‘EE TP
() FoBow soresgDos Do 5%y
(4) FsTo dov; Foiy, )88 &
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| Code

An Ideal teacher is one who ....

(1) reads continuously.

(2) inspires and initiates the students.
(3) teaches students regularly.

(4) attends the needs of students.

(1) DBobdbo wENRPHBooLTED.

(@) dogsgosn adesod GEbP.
(3) (00 Hi%oom® oK SRR,

(4) OO0 HITOR MOIRED.

The winner of 2014 Miss India World is

o

(1) Gail Da’ Silva

(2) Sobhita Dhulipala
(3) Jhataleka Malhotra
(4) Koyal Rana

2014 D 5odakP SE§ B weeeeen..
(1) Towd o bew

(2) $poe o>y

(3) wSSs Bo&B

an:bé-u'::ﬂ
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9. The Jayapur village which was adopted by the Prime Minister Narendra
Modi belongs to this State.

(1) Gujarat

(2) Rajasthan

(3) Uttar Pradesh
(4) Madhya Pradesh

B B00[@ SOoEATE SBO B0k, ‘ealyrb! (e Ba ogesn.
(1) ued
(2) oadds

O
(4) Do ==

10. The State that banned mining within 1 km (one kilometre) of National
Parks and Sanctuaries ....

(1) Kerala
“(2) Goa
(3) Assam
(4) West Bengal

ED Il o, HUFETIOL L8 36Doetis 300S* 500 BRI FBHODS TRE weve
(1) Sus

(@) &
(3) wFrpe
(4) S0 Bormd
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PART - I1 (A)
GENERAL ENGLISH

11. We must ........ administrative expenses.
Choose the appropriate phrasal verb to fill in the blank.
(1) cutin (2) cut off
@ cut down (4) cut out

12. India is the greatest democracy in the world.
The positive degree of the above sentence is ....
(1) In the world, there is no democracy other than India.
(2) No democracy is larger than India in the world.

(3) India is larger than any other democracy in the world.
No other democracy in the world is as large as India.

13. People say “The chess master Anandan has lost his memory.”
The passive form of the above sentence is ....

(1) People told that the memory had been lost by chess master Anandan.

@ It is said that the chess master Anandan has lost his memory.
(3) People said, the chess master Anandan had lost his memory.
(4) It was told that chess master Anandan has lost his memory.

14. It is certain that he will succeed and nobody can deny that he will secure

good marks.

The underlined part of the sentence is ....... clause.

(1) a principal (2) a noun

(3) an adjective : a co-ordinate

15. The following sentence is divided into four parts and labelled as ‘a, b, c and d’.

Choose the part of the sentence that has an error:
Bangladesh has come / into / existence / thirty-six years ago.
a b c d

1) e 2) d

@a 4) b

[6]
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16.

17.

18.

19.

20.

Q. Booklet
Code C

You and I played well, ........... ?

Choose the appropriate question tag to complete the sentence.
@ didn’t we (2) don’t we

(3) didn’tI (4) didn’t you

“We have to test these products”.

Choose the sentence that has the similar meaning to the above sentence.
@ These products have to be tested.

(2) These products should be tested by us.
(3) Tested products should be bought.
(4) We should test the products.

‘Do you really come from China ?’ said the Prince.

The indirect speech for the above sentence is ....

(1) I was asked if I really came from China.

(2) The Prince asked whether I really came from China.
@ The Prince asked me if I really came from China.

(4) 1 was asked by the Prince whether I came from China.

Krishna i1s an amateur artist.

Select the word which is opposite of the underlined word.
(1) trainer (2) under training
(3) clumsy professional
The first and last part of the sentence is numbered as 1 and 6. The rest is
jumbled and are named as B Q, R and S.

Identify the correct order of the sentence.

[1] There are people

[P] to be able to say

[Q] not because they enjoy the book

[R] who read a book

[S] but because they want

[6] that they have read it.
(1) RQSP (2) RSPQ

(3) PSQR (4) SQPR
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PART II (B)
GENERAL TELUGU

21. LRT) T WRTHR, Q(B0w eI, wihShane ekionede, PPoRgite dowadie, HvdS,

3T Ftd Hod BB JoY 5o BOODD (HOHO wereresen.
(1) Boikgriso

(2) isds

@ 3“533. CramOdoes0

(4) esoly SoSbgrrste

22. BOIEET et goSKePen, Dol BIGHEFeD HEOVI® EO% HEQO wrerreree.
(1) el

(2) B
(3) eseDded

(@) 50

UPBAD, PRFome KNIV, SNy DIGH0 PO EIDBOHHNL eveesee.
@ ot

(2) OvSsoradiirastis

(3) oo DD

(4) Dob OHo

24, 00 ASLETD &Y wereernnes
(1) Soras 795
@ DO SoBak s $OF K
(3) - GrR TN
(4) roeedznis

25. Hod) BLBTVY TN BBES .eeeeene
(1) e 5%
@ 3,508 T $BSo
(3) =3 ¥Bso
(4) Jrnftdo s
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26. V5P FEI07 ey AT BTPS DRITED werveninns
(1) %5 Hos &ove
(2) % DO &sSo
(3) st Sv8 o
(4) D¢ oo gdde

27. 3ol Bolts TN ) Dol S50 serernsens
(1) d;otbsotnm
(2) oSt
(3) oTreeps B0

CHPS BOB

28. ‘TG, VENS, s B BEE BOQ werrean..
(1) EOBEHDE 500
(@) msesesmds 500
(3) nesme HSod
(4) 25-8% $00

29. 2558 B 206 Yo LY (oforr T, b X ... :
(1) e300

(2) ewobldud

(@) wug

(4) =DBVOB

30. 3, &, 20’ 0% URROAIN eBned STIDYE estBon® ﬁéob ..........

@ aoenpeo

(2) Soxres
(3) Piges
(4) wEBsre

(9]
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Code
31. SHow Bolerss e DS DeDnt THosd Jiyetissd D0 - &3 B0 Mo wTo.

(1) 3~reinder - BEsrargdo

@ TSP @O0 - DBOTF 0
(3) Some @irdEHne - HBTTo
(4) ISR (Rrodd - HBATTGe

32. FoRE Asren B0 Hed 81 &5 Y U Ised’ 1¥ aEEIY) 55 205 BuEreso
DU SHPRODD DOOTPEP (FOBY) ITP@E eeererene
(1) ForoTTed
(2) =*E roranoy
(3) st osotigonss
(4) 3.2. TP logen

33. «dorD6%Soc (dows os, Asd Badke D (@l
@iy Q8 WoResiy S0 ~ & 5P TU00D . .
BRD POos - a3 Fdod
(2) Doderog WOBHL - Paydd o
(3) oliarg Traraiono - A% woTod
(4) BE0H FUB0 - Pa,d8 Faos

34. 52 5o, T ¥oR0Q, DB’ i) DoSH0w Pod Beokd VDT TS Gt Hep
POBD TS evrerenes
(1) KoBogsy™d ey 55,
@ Ssslied SBboItTL
(3) TEEE Sorrortiogen
(4) BoeXTre TR0

35. &5s Dojres Ul DROIHEY eshrTmomn.” S TECER SOoED ..
(1) odsar3

@D sy

(4) &rB%e
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36. Sodoes Yre E9D B3 [Rrodivey e 308 H0od DE HECETY, e
(1) Sog05)BH0 ©owrd.
(2)  SogoEHtnn sowro.

@ BREEEH0 es0eTo.
(4)/ Sofolpoionn escwrds.

37. &IOS’ G0l Dofrd Sor I 5088 BB ...,
(1) Sorebeot
(2)r SDodmEse
(3) Hodiad

(@) seosowd

38. O, esDB, FRoBA’ K0 TRITPONRIY B ceseenen.
f1h
VL)

(2) ) Sl
(3) preks

(@) s

2 e o0

40, ‘oliRoXeo’ eithy B 80 ueveernns

(1)  oelits Ssdoses
(2) Zocobies

[11]
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PART - III (A)
MATHEMATICS
V3447 K, ++/21
s . K
41. If simplified form of 727+ 763 —J28 — /48 18 K, ’
then value of K;-Ksis......
J3+47 . K, +21
0 O O - 7 20 Brd, sBow K 5068 55 K- K; o0 e
(1) 6
2) 7
@Gy 3
4) 5

42. Which of the following is not a factor of (p - q}ﬁ + (g - P+ (r- p)‘a

3D TS N8 (P-q)P° + (q-1P + (r=p)? % TR &9

(1) r-p
@ pt+qg+r
3) p-gq
(4) g-r
(SwmmeWnﬂ)
- =~ PV
2 C?10°%3G §4> .99
\ » 4 A2 -30Y §avy)

§%> 4 2T - it =5

' h
o 3y Py
e 0
YA > 253 ek RN el
o L .
<€ \ N\ J ji._lp-—— A’ _\@q:ﬁw et 3Feao
i ey =) OA Ch
TE-:m Ve Ay
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Code

5

6) 216

* (5\%* 125
43. If -) (—) == then value of x° valueis ....

5) \6 216
(1) 125
216
2) 125
125
(3) 216
@)

In the adjacent figure, OA = OB = 21 ¢cm and
ZAOB = 120° with ‘O’ as centre of the circle,
0 X then area of the segment AYB (in square units) is ....

/ J ©%%308" ZAOB = 120° 500ctix OA = OB = 21 o.2.

e | ‘
" ZAOB = 120°. ‘0’ oiserm Ko 5os’ wyspoio AYB pave.
21
(1) 5 (88-21V3)
(2) % (88 +2143)
21
(@)  (88-2143)
@) % (88 +214/3)
(Space for Rough Work) "‘?el
3w { M D e
Ol £ ~ E""-.l"‘n.-'f __1-1._-'!,. = 3 ] ,L.‘L_._II "-.".—_-"
g r: ) b L } e E,.:jh o bt
{"FI " (S v {j_.:ﬂl EJ'.'I"-I = J
'T;'"'-'* -T.] W4 |
ol Ay S
™ 6
..,;'F\bv -:'_":.‘-1.. = L
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45. Value of sin?83° + sin?7° is ......

sinZ 83° + sin? 7° D005 eerereens
(1) 0 (2) -1

(@ 1 @ 2

46. Ifslope of line through P(2, 5) and Q(x, 3) is 2, then value of x is .....

P(2, 5) %0805 Q(x, 3) © Kome sy, Op B0k, TPe0 2 e000H X LD <ue.

(1) 3 2) 4

@1 4) 2

47. The system of equations
2x+3y =1,
x-y=1T7
(1) hasunique solution.

(2) data insufficient to determine number of solutions.
(3) hasno solution.
(4) has infinite solutions.

2x+3y=1,
Bx—y =T BAOKBE SEDW werereras
@ J3E F&D Ded.
(2) YO BAPTEE ;e Sopged APOOWDO.
(3) s S,
(4) 550D FGHed &THOL.

Q. Booklet
Code

(Space for Rough Work)
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48. Two circles intersect at A, B. PS, PT are two tangents drawn from B, which
lies on AB to the two circles, then ....

Bot HTes A, B 06 podotuorTnon mbakn AB B9 & P Doisly weod
e Ad SHhopes PS, PT wadd ...

@ PS = PT

(2) PS «£PT
(3) PS=2PT
(4) PT=2PS

49. The first and the last terms of an Arithmetic Progression are 17 and 350
respectively. If the common difference is ‘9’, then sum of all terms of that
Arithmetic Progression is ....

2.5 eooSRGE" ool DN $oren DN 17 Beddin 350 So8ckn Bmrebto 9 waxd

(1) 6773 (2) 6667

6973 (4) 6873

50. If Kx(x-2) + 6 = 0 has equal roots, then value of K is ...... a

Kr (x—2) + 6 = 0 Boot, Soorenes SHmsere &od, K Do .. e}

(1) 7 @ﬁ

3) 3 (4) -6

(Space for Rough Work)

[15] - - ro .;|.|
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Q. Booklet

Code

Class 1-3 3-5 o-1 7-9 9-11
Frequency 7 8 2 2 1

The mode of given distribution is ....

308 TP BNY), DTV wervereens
atehy bt 1-3 3-5 5-17 7-9 9-11
P850 7 8 2 2 1

(1) 3.386 (2) 3.786

(3)) 3.286 (4) 5.286

52. Which of the following is an example illustrating distributive property ?

DRI TROIRINE GTREPUEINe DHOE0OWIND werrenes ;

(1)
(2)

(3x4)x5=3x(4xDH)

(-168) + (168) = 0
@ 3x4=4x3

Ix(44+5)=3x4+3x5

53. /16129 value is increased by 23 and divided by 15, then decreased by 10; what is

the resulting number ?

::":r:a;:ag S

(1)
(3)

2
1

(2) 3
@ o

(Space for Ru_mgh Work) r
nw |50
qaor 1 V™
'3
f NP &
[16]
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Q. Booklet C
Code
54. A number is increased by 20% and then the increased number is decreased by
20%, then the net decrease is ....

2.5 oy 20% dod $OBH 20% B D0 Mo BopS® BEMOBS ...cn.e..

1) 5% @) 10%
3) 6% 4%

55. By selling a basket for ¥ 19.50, a shopkeeper gains 30%. The selling price of the
basket so as to gain 40% is ....

&5 20030 T 19.50 % koo orr .8 Sosrerortd 30% orgio SPotin. et 40% oigio

FOTPOY 3 20630 ST SHREY IV cererenae
(1) 31 (2) 25

@ 791 4) %30
4

56. If ‘3’ is added to both numerator and denominator of a fraction, it becomes 5

ra 1 ® 1 = Wy 2 :
If ‘1" is subtracted from both numerator and denominator, it becomes 35 then

sum of numerator and denominator of the original fraction is ....
4
ORIV FEHROHWH ‘37 KOLD v Piso 5 . 0 PinEn oo, Ho wod ‘17 SN
2
& Do g @O0, ©aass es Pio ook, oo BB KPE 53 PO ..........

(1) 13 (2) 15 D
@ 12 [}J 2 ‘o

(Space for Rough Work)
i X \
ad G008 1(3) W oA o M
R £ B M A 3
\ =& oA U .
e P s . e
V0 — vy Tl \r | j‘h
. \ 00 — \ & |
= o . {
R = ‘rﬂ..f.‘ﬂwr“-———-ﬁﬂ
AR [17] \ A


webs71
Oval

webs71
Oval

webs71
Oval


Q. Booklet
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57. In the adjacent figure, if OA = OB = OC, then valueof x s .....
©%, 9008 OA = OB = OC w0 ‘2’ S99 vorverees
i~

58. A circular park of radius 20 m is situated in a colony. Three boys A, B, C are
sitting at equal distance on its boundary, each having a toy telephone in their

hands to talk to each other, then the length of string of each phone to other
phone s ....

20 m Tl KMo of SPERets TP SORR Sarw SEFEeE® Bkt wresto A, B, C
KRG G, 0 2808 288 BMTEEN Soy BP0 B8E PooFed 1N,

[-4

TH0> T OO PR esenreass
(1) 4043
(2) 5043
@ 203
4) 303
(Space for Rough Work)
154

(18]
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59. A hollow cylinderical pipe has inner circumference 44 m and outer
circumference 45 m, then the cost of painting it from both sides at the rate of

60.

Q. Booklet
Code

C

¥ 2 per m® will be......, if its length is 3.5 m.

25 PR 109 Spsrod’ God. T ey 909 45 Do., wobts 3580 44 N, eoass I3
mwam%w&mm%mmg@ma.ﬁmma@m

&0 PN cervrrnenn

(3)
(4)

The mean of 50 observations was 250. It was detected on checking that the

value of 165 was wrongly copied as 115 for computation of mean, then the
correct mean is ... '

50 woTe Bl 250. LT 2.8 esciioi 165 5 eatssesm 115 ES%5e0 2BAcE
52 BT 90 00D HHLD everenes

(1) 165 - \
i ! Hr
(2) 166 5
(3) 250
251
(Space for Rough Work) \6S
N R Wt \ bS
| D D . -
y M L R e A
N\ e S0 T e
N P H"' : e 0 I."""L--Ir":l-."g
\§500 o) \4‘;{10 i} \“Eoe
e O ﬁﬂ'ﬂ—t —=22_ -2 0
E {‘H#'{%_ = 9 $ ‘1"1\4‘5 0 AT
- ":r h..,,_',..-ir’ o
(= . k%‘.ﬁl Sf -
Gp i
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61.

62.

) Q. Booklet
Code C
PART- 111 (B)
PHYSICAL SCIENCES

If 2N force is applied on a piston of 0.05 sq.m. cross-sectional area in a hydraulic
jack to lift 200 N of load on the other piston, the cross sectional area of that load
piston is ....

1) Y sq. m {2/10 sq. m
(3) 05sq.m (4) 5sq.m

2% 3§ 88 0.05 o, TS50 Ko BIOD 2 N5 © 20 GIAFAOD ToEHDD) BIOD
200 3. $OBe0e Dol e $OBwoo b E:‘QS PTG cerrnaen

1) Y2 sSudo. (2) 10 Budo.

(3) 0.5 Bu. 5 Buee.

A woman performs 180 J of work in 1 minute, while her son do 60 J of work
in 90 sec. and her daughter completes 360 J of work in 1 hour. Their power
ratios will be ...

28 g 180 & DD ¥ Jsaseand® Do esdo WBFE: 60 & B3 90 i &° 0
D0 V0K €0 BT 360 S DAY 2.8 Nows F0 Do o TP (© NHd

(1) 9:2:3 2) 1:2:3
3 3:2:1 4»>2:9:60

When you touch two electrodes of a 9V battery and observe a current of

0.9X10* A through your body, then the resistance offered by your body
will be .....

IV wPgesd Do), ot Jo§ithoeno Srdstmty Do 5050 wod 0.9X 107 echoss
DS Earonise HaoRodnS D 5850 g % weso

llllllllll

) 10° 0 @ 10°Q _—
3) 0.111 0 (4) 9x10%Q

(20]
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64.

65.

66.

* e | C

When a dirty cloth is soaked in soap water, the various micelles form a
colloidal solution, but not a dirt precipitation because of ....

(1) hydrophobic soap molecules repel dirt particles.

(2) non polar nature of soap repels dirt.
(3) ion - ion repulsion.

(4) hydrophilic nature of micelles.

25 B008re &) MoEso Beay MBS THVISERES DD Wadew o TodePs (%o
D0, T $o008 eTFHR0 DG, SUBEIO ceveresens

(1) ey Serpei Ko 2 B00pd Ho Bwdd 5Powow.
(2)  Heayy Bk, eind Ho Wodid JEdotoe.

(3) eoumss-easmss dges

(4) w2De% DB &%, Boswpd

A Carbon atom in exited state has 4 valence electrons with different

energies, but form 4 bonds of equal energy. This phenomenon is called ....

(1) Multiple bonding (2) sp or sp? hybridisation

(3) Catenation (4) Hybridisation

G325 08 &N TYHS BERTrPPER 4 HoBredcd Jogoowr oo %8
DODPEI00) SIS e 4 [0 $S o HHBWoR0. & HEAHED SO weseers
(1) ebvecire Jokew (2) sp éﬂ% sp? Hosbsteo

(B) Hope FY o ﬁ,mﬁﬁﬁtﬁnc

When 10° J of destructive energy was experienced due to an earthquake at a
place which read as 3 on Richter magnitude; the destructive energy that may be
experienced due to earthquake of 5 on Richter magnitude will be ...

*856 Jyeod 3 Hrdenm SATDS o Erodos® osoto 10° J DRy ¥80 3es’ B

Pood’ 5 856 Pl giroto Ho BIOWNDD DioBY B3 BOKTENEN verereer.
3
(1) 2x10°J @ Y3x1009
3 107J 10%J e
[21]
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Q. Booklet
Code C

67. The planets on which Sun rises from west are ....

(1) Venus and Uranus (2) Saturn and Venus
(3) Venus and Mercury (4) Uranus and Saturn
e R0 S ST 9008 SLa0eEIR.

BoEatss, CHI0RR (2) %2, B
(3) B, wadat (4) o%as0s0, ¥

68. The correct ascending order of resins as per their identification codes is ...
T MoBoR) Wik BUem 90N esEires oo ¥DRA.
(1) PVC, PP LDPE, PS, PP
(2) PET, PVC, PS, LDPE
@ HDPE, LDPE, PP, PS
(4) PET LDPE, HDPE, PS, PP

69. The experience of pain due to a punch of a boxer depends on ...

(1) Only the time span by which the boxer finishes the kick.
(2) The force that the boxer apply and the time of contact of the boxer’s arm.
(3) The magnitude of force alone by which the boxer kicks.
(4) The ratio of time by which the force is applied to the magnitude of force.
28 2P0 BN Bod Hob eiBoPded Ty HERD uoEnt: wes .
(1) 2,0 35 gune B o wBdp SRl

((2) %5 &s@Piods woo S0k wd Saw T8 & T HOSTESD.
(3‘)/ PH0 SBAFADS wo BOEPECPH BN,

(4)  2OEAFN P @HRS wo BOHFEPIS e AHY .

lllllllll

70. The quantity of Carbon-di-oxide required to convert 112 gm of quick-lime into

200 gm of marble is ....
@ 88 lit (2) 6.022 x 1022 molecules

(3) 44.81it (4) 44.8 gm

112 {000 &r& Sopaaoio 200 (F. © Bk CPoom Sttt eRsumb 555 & 36
BT terrrnnans

(1) 888, (2) 6.022 x 1028 ESEARNBO

(3) 44.8 8. 4y 44.8 (.
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Q. Booklet C
Code

PART - ITI (C)
BIOLOGICAL SCIENCES

Sieve cells and Sieve tubes are present in this tissue.
(1) Meristem

(2) Epidermis

(3) Xylem

(4) Phloem

&t Sondeod’ Tred Semen, Tved) e dosPass.
(1) DglEs oo

(2)  wrgto

(3) ooy

@"ﬁ‘ég ¥peveo

72. A woman is suffering from burning feet. It may be due to the deficiency of

73.

this vitamin.

(1) Calciferol

(2) Phylloquinone

(3) Pantothenic acid

(4) Thiamine

2 3 60T Weowed esistodied. e DedeS E%5hs a8 Sto S,

(1) 3836

(4) SdHles

In our eye, the clean window in the sclera infront of the Iris is ...
(1) Fovea

(2) Retina

(3) Lens

(4) Cornea

200 BoldE® B)atost Ko Fn Bavots God SOBPRS 338 B0l o ...
(1) /@'m“

(2 Jpveoo

(3) He¥o

woESwee
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Code
74. The Biofertilizer useful for Nitrogen fixation is ....
(1) Penicillium (2) Rhizobium
(3) Bacillus pseudomonas (4) Micorrhiza
DBEN FEOL SHAPIE RIS weeereres
(1) 0o ((2) &0ase
(3) LD WPEITTH (4) 208%e

75. In Prokaryotes, cellular respiration is done in ....

(1) Chloroplasts (2) Cytoplasm
(3) Mitochondria (4) Nucleus
3063508t SerTgii@o0 208 T evrrenes cnal

(1) S0BOrvYd @’-'Ea_eﬁsﬁ:ﬁc
(3) weSsroidar (4) Sos¥e

76. If a ripened fruit is in a fruit basket, the other fruits will be ripened quickly.
It is due to this phytohormone.

(1) Auxin (2) ABA
(3) Ethelene (4) Cytokinin
2.5 Dok 20636° .5 HT%3 DN (SofiD) Hotk> &oll, DAD Soiky B SoddFarom.
B3 B3RS IS SIS weverene,
{1} E%JS ' {2]‘ J.ﬂ.;}.
(315005 (4) P3N
77. Transmission of characters or traits from parents to offsprings is .....
(1) Segregation (2) Heredity
(3) Mutation (4) Variation
ofrPet BABOEIL Bod BOBS JoD TSN cereseen.
(1) BeHse GHo%0BES
(3) &GOS (4) 550
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78. The scientist who discovered that the female Anopheles is the carrier for
malarial parasite is .......

(1) Ronald Ross
(2) Ronald Robins
(3) Robert Hooke
(4) Robert Coch

3t JTBR, BIVOAIT ST E13 TrSo, e EB0RTy TR crererenn.
& oo

2) &>§ odS,

(3) oredf Tk

(4) ob S5

79. Plants or animals found restricted to a particular area or a country, are called ....
(1) Migrated species
(2) Adapted species
(3) Epidemic species
(4) Endemic species
25 o DO ¥ BBg8 (ool BOE ol Ty, 2otod 5o Deods.
(1) ABE ervoen
(2) ARG e

(3) ehHE emiboen

(@ 3oa258 wuves

80. A farmer is rearing honey-bees in his field. It is called ....
(1) Apiculture
(2) Tissue culture
(3) Sericulture
(4) Pisciculture

% Dt 89 E©o8” B3, vostvo i, o) 50 worPs,

@ Jﬂﬁeﬁ

(2)  SarEed
{3) ?aﬁﬁe.:ﬁ
(4) 2h5end
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PART - III (D)
SOCIAL STUDIES ¢

81. The winds that named after a native American tribe is ...
(1) Puna
(2) . Mistral
(3) Loo
(4) Chinook

SO BuroTrhed’ L =98 B8 B BiTres besswioromn.
1) I

(2) o>é

(3) er

A

D58

82. Leonardo da vinci signs his name as ....
(1) Leonardo da vinci the Artist.
(2) Leonardo da vinci the Painter.

(3) Leonardo da vinci disciple of Experiment.
(4) Leonardo da vinci the great.

OBrE 0D, gor Hod¥o S,
(1) dar=E =2l sovsiors
(2) BBFE TN,y VBT

@&m@j @Y, BAPme s>
(4) dar=8 =ad, 8 (S
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85.

Q. Booklet C
Code

‘Even though the study of literature promises and offers no reward for
women and no dignity, every women ought to seek and embrace these
studies.” This was written by ....

(1) Monalisa

(2) Cassandra Fedele

(3) Albrecht Durer

(4) Isabella D’este

Ty iaioNo HY Blrde Jbed oo, TENe oDowsis B3O Solry DB

i:;_}é;\ma! e [Fosarto.
ST

@ ol i

(3) Hgﬁg ii?sdg
(4) B & Y

In 1517, the German monk launched a compaign against the Catholic
church was ....

(1) Martin Luther

(2) Erasmus

(3) John Calvin

(4) Ulrich Zwingli

1517 $o0%;506" S508 503 HOBTOMP &SI, Baosed DD BB LY crrveenns
588 eresb

(2) Jowge

(3) L3N

(4) &@5 #oh

b

European countries joined together and formed the European Union with
head-quarters at .... |

(1) France
(2) Brussels
(3) Germany
(4) Italy

28> S K0 Domen BREN) AFEHAHS IS @, B Towae
35,8 e,

(1)
RN
) t:@

(4) zed
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86. In the Tundra region, the Sun never sets during the months of ....
(1) dJuly to Se:ptember
(2) January f:0 March
(3) May to July
(4). April to June
2O (Fotos’ B Do B0k T Do SHL HIOED BEWOBES.
(1) 278 Sood DPowb Hu%H

2) 2500 ool HI0) HE%

(8) 3§ w00d &g w08
w%;ﬁ S0l amh HE%

87. The Nizam of Hyderabad founded the Hyderabad State Bank in this year ....

'Lzﬂw,ﬂ’f D20, IPSTWE $e) WPOKIN0 POV SODBATEID crereress

@/{941
(2) 1944
(3) 1943
(4) 1942

88. The standard currency during the Mauryan period was ....
(1) Rupee
(2) Dollar
(3) Besant
(4) Pana

27000 meod ¥ Dod & PRPEIEOMT® SOTO vereerenn.

(1) Graroas
{z:/_éiys
3 DS
v

[28]


webs71
Oval

webs71
Oval

webs71
Oval


sz [C

89. In Lok Sabha Elections - 2014, the number of Parliamentary Constituencies

were ....

2014 &%545 Db’ FERoowd IR HOO PO <ereen.

(1) /548
@ 543
(3) 546
(4) 544

90. The fast flowing narrow belt air currents above 12,000 mts in the upper
atmosphere are called as ...

(1) Dry north-east trade winds.

(2) Loo winds.
(3) Monsoon winds.
(4) Jet streams.

So $00d 12,000 2ot Joed® Sl Iopod® e (S5l TaETIoR 500 Deodxo.
(1) P& Bawvidg et S
(2) ‘e SdTreo
(3) BORBOSE meoen

@ 8BS (Fadtes

91. According to the census 2011, the male literacy rate was ....
(1) 74.04%
(2) 65.46%
(3) 82.14%
(4) 64.84%

2011 emrgr Kewd @500 HToH0 ETPEER T9EO ..ove...
(1) 74.04 7780

(2) 65.46 7v80

@/82 14 =80

64.84 780
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92. The policy introduced by the President of U.S, Franklin Roosevelt was ....
(1) The New deal policy.
(2) Economic policy.
(3) Open door policy.
(4) Non Alignment.

S0 gl ErEDE EFPOBODD IGO0 «evseusens
ORI ESS

(2) 8% Dgvde

(3) &3 Fod

(4) eds 20

93. Hitler assigned the responsibility of economic recovery to the Economist ....
(1) Bismarck

(2) Mussolini

(3) William

(4) Hjalmar Schacht

2t B8 WG TN ERE B, tred T eRRIBD widloTi.
(1) 210,

(2) S0A0

(3) WDaPas

oS

94. It records market value of all final goods and services produced in a
financial year.

(1) Services product.

(2) Gross domestic product.
(3) Foreign sector product.
(4) Goods product.

2.5 0¥ Bondybes® S6H e ol HKPHES, VL BITYS Jeosite 30 FATE
wised.

(3) D3k &B6,8
(4) SHoove &6,8
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95. The two rivers Bhagirathi and Alaknanda which join at Deva Prayaga are

96.

97.

called as ....

(1) River Brahmaputra.
(2) River Godavari.

(3) River Ganga.

(4) River Indus.

GASH B0 weNves Bises Doim BHEAMT B ¥Db 1 HOM beskesaron.

(1) &y 98
(2) Aomsd 9d

Chipko movement started by Sunderlal Bahuguna in early 1970s in these
hills of Uttarakhand.

(1) Garhwal hills

(2) Veli kondalu

(3) Seshachalam hills
(4) Pala kondalu

1970 etotiod® auorpolid® s Foked® wossed wiuibe OF, E&SEFY

rSoots. |
@ Ko Solien

(2) 2 So&en

(3) Tyveo Soses

(4) o Solies

“Untouchability means any act committed in exercise of discrimination on
grounds of religion, caste or lawful vocation of life.” It was stated by ....

(1) Dr. Rajendra Prasad

(2) Rohini Kumar Choudhary

(3) K.M. Munshi

(4) P Ranjan Kumar

oo, oo Tor WA dETFO wirtont JIKE W D VUIT werTRBSe’
@0 DEYHTES cvevereens

(1) con oBeoSHRE
@ el 5578 Feb

(3) 3.amo. By

(4) %. Sowd wurk
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98. In India, the highest waterfall Jerosoppa is on the river of ....
(1) Sabari.
(2) Kaveri.
(3) Godavari.
(4) Sharavathi.
58 $606'0 0B ITS modnbo BORY’ B 98P &0
(1) =b
(2) =38

(3) Rlowsd

e Tt

99. The formation day of Telangana state was ....
(1) 2014, June 4
(2) 2014, June 15
(3) 2014, June 2
(4) 2014, June 14

SOoTET #@:: E’Eg}q}'ﬁu oo oy T
(1) 2014 &5 4
(2) 2014 8 <15°

@ 2014 a0 27

(4) 2014 &5 <14

100. The steep rocky coast raising almost vertically above sea water is called as ....
(1) Sea cliff |

(2) Sea arch
(83) Mushroom rock
(4) Sea cave

B0 26 Bood TENY RFET BB O°0 TR 3T BeoRbo.

(1) ey

(2) &oero
(3) Dt oy
- (4) B Sok
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